


MaOnpatik& A’

OvVouot: —r

MpooBéoeig Ko
Bpe¢ t600 kKdvouv! aQalpéoelg SupRPLwy
Kot povoyngpiwv
543% e 6+2=....... e
15% 3 ®aa: 16 + 2 =.......
25 + 3 =....... 26 + 2 =.......
35+ 3 =i 36 + 2 =.......
45 + 3 =..... 46 + 2 =.......
9-4=........ 8-2=......... Eloou; D Not
19-4-=..... 18-2 =.......
29 -4 =...... 28 -2 =....... D’Oxl
39 - 4 =....... 38 -2 =....... & Sl =
49 -4 =....... 48 -2 =....... ; i SR =12
6 + ........ =9
16 + ........ =19
- T =
| T—— =13
5 +........ =7
15 4+ ceeeeeee =17
9-........ =95 ; S— =
19 -........ =15 | Lp— =13
- 5 Jn— = Q- neee =6
j C . — =16 19 =16




